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  ا������ء
    1 ���
� 

�A ا�.�اغ ���? :-�� <�=�� ر��>� أ:�د
� ا���ن 9�ل ���6�7     nm500=λ  E�5ا� F7�AB  ر��G�  
  .����وي اH>Iع

 C= 3.108ms-1: هAأ:��M Nدد هKL ا� ��7 �5 � أن ���5 ا���Jره� �A ا�.�اغ  1
  n= 1,5:'د ���5 ا���Jره� �A ا� �G�ر �5 � ان ���P? ا�3,��ر ا� �ا�O ��6 ه� 2
3  E�5 ��=�Rد ا��-�� ا��Mا� F7� AB�  �
    G� �30  =i�ر S-او

                       E�5�F7 AB ا� r ا��,��ر:'د �� � زاو
�  -أ      
  . �� �G�ر ACا���M Aد �6S ا��-�� ا�E�5 ��=�R ا��r'     F7:'د �� � زاو
� ا��رود   -ب     

N2 أن �2�Mوزه� ا�-او
� ا���M Aد �6S ا��-�� ا�E�5 ��=�R  - ج      � Aا�� �
��رن هKL ا�>� � �W ا�-او
� ا��'

  F7�ا�AC   X� X, �M Aر آ�G� ر����ا��,.  
       ؟F7���SAC ا�R�=��  ا��-�� PS' ا[\'ام ? E�5 ا�,��ر ��R�ءه? �)�Z -د     
     K-  �
  .���-�� ا�D  ��=�R ا����افا:�N زاو

`A ���ر ا��-�� ا�R�=�� 5`� ا� �G�ر �M W _�? ا�-وا
�    -و     �<M ?,JS ��ار :i-i’-r-r’-D)i’ ا�3`��ق �
زاو

F7�ا� E�5 A c( ا� W� ر�G� ا� X� O_`( ع ا��PJ�6 ا���,
 Aا��AC 
4- e�SIء ا�Rا� X� ��-�S �<S��ض ا��-�� ا��P� .f:H(� دا�� �G�G E�5 ء�R�S  �5�>�ر وراء��G� ؟ا�  

 
 ���
�2  

���`?  اE�5 WR��mn ا�\�ف  ، �M vk��Sدده� �Sت ��А M ?`��LSL��`�7\�ف ��h`M�� S'ث S�ا�\� ه-از 
. ��P`� ا����c ا��S A'أت ���6 :�آ� ا�6-از أ[H ����ار
W(� .(q ا� ��7ت �X ا��P,�س( �\)� ����Zص ا� ��7ت

?,Jا� ?_ 
 F�.�أ  �cا��� A�
 _?  ��S:1���  �6c�s0,015 =1t ا��`?  WS��2,5cm. 

  
1-  
  .�ه�-ازات ا� )`v Wو ا���دد  X�5λ 9�ل ا� ��7  1-1
.ا:�N ���5 ا���Jر ا� ��7 9�ل ا��`? 1-2  
2- X��c�6 ا��`? 5)' ا���c� ?_� t2=0,02s   وt3=0,025s 
3-   

�A ا�\�ر �W  أن�5 �               1-3 O��>\�، ا��)�t 9�ل  40ه� A>\� )ا�5'د �>h ا��`? ا��M E�5 -�6M A�ا
�A ا�\�ر �W ا�)>\� (ا��`? O�
M E�5 -�6�ا ?`��� A��_أن ا�\�ف ا� ?`<�A( 

              3-2  Aه Fا��`?، �5 � أن آ��� �M�M � �� '7أوm=40g   
  .���`? و �9�F ا�_��A A او7' ا����m ا�-�)X�S A ا�\�ف 3-3              

Hz102e ا��`? S�ا�\� و��ض �Mدد و�AR� FM�Rء -4 =υ  
    1-4 uS�6 ا��`?؟ �5? 7�اc�� 
 .آ�
    2 -4  Aددات�� ه�M ي ا��`? ����.�؟'`M Aا����ض ا�� 
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 ��MC1 = 0,06 mol.L-1 �2: Wآ�-C2H2O4  KاIوآ����X�S1   e �� u ����ل   �V1= 50mL -ج :2 � 
V2= 50mL  ل���� X�S2  م����M�`آ�و��ت ا� A=�(_�(2K+,Cr2O7

2-)  A�� ا� K-آ��MC2=0,016mol.L-1   

���ت �)�=A آ�و��ت أ: e اIوآ����u و ,? �: X�N ا���آ�- ا� ��A ا�`'=A �ا -1Cr2O7

2-  h��vا� A�
F��5 ?Z� ا�. 

�A هاآ��P� Nد��  -2 X���m'� ا� X��7�5 � أن ا� -دو ،h��vا� A� CO2/C2H2O4: ه � Lا ا�.�5?ا��.�5? ا���[? 
Cr2O7و  

2-/Cr3+  
 .ا�,� ��=A ا�Lي 
�NP دور ا� �v-ل �A ا��.�5? ا���OS:'د ا�)�ع  -3
4- OS��5? ا��.��� EZ�Iد �� � ا��>'م ا':.  

���ت  -5Iآ�- ا�M X�S ��HPأو7' ا�Cr3+  ?5�.م ا��'<M و h��vا� A� x. 
 .(��S�PM �<�J�[Cr3+]  X�-�� �``�� ا����5 ا��h5  ���'S ?5�.��� �� 2أ -6

���ت و ���)�S f.�����S��  t'ر�7 ا���ارة  -7Iآ�- ا�MCr3+  �2M�(ا������ ا� t=��(ا� E�5 ?Z�(�  :X5 ا��.�5?، 
 

  

W أم   - أ��5? �.M OS��ءه? ا��.�5? ا�A\S؟ 

 .t=0s:'د �� � ا����5 ا��L6� �� 2ا ا��.�5? 5)' ا����c   - ب
أآ`� أم أ[��t=40s  '(5 �6� �� X� �z � هKL ا����5 5)' ا���X�S  �c دون إ��2ز أي :��ب ه? ��,�ن  - ت

 �cا���t=0 .uS�5? 7�ا. 

{�� E�5 ���5 ا��.�5?؟|ذآ� H��5 :�آ�� ا  - ث �m 

 ا��.�5?  - جZ� Xأو7' �� � ز�. 
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)�ب  '�:      rAr −='  ��A=60°��وي اH>Iع إذن  و S � أن ا� �G�ر              
=−=°                                                      : ت ع 53,4047,1960'r  
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� ا��'
� ����S-    -ج
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 F(� و :lrr ''< 
lrrأن S �  -د ''<  ��� E�5 ?Z�(� �(ء�R�� ر��ا[\'ام ا�, 'PS ��-ا��  ��=�Rا� F7���SAC.  
K-  �(
'�                                                         :°=⇒=== 11,77'9748,053,40sin*5,1'sin'sin irni  

=+−=+−=°                                                                 : و ��M X �2' أن 11,476011,7730' AiiD 
   i-i’-r-r’-Dر�� ���ر ا��-�� ا�M W� ��=�R _�? ا�-وا
�  -و

  
4- K��2ز
���)� �)S , E�5 f:H � ان ���P? ا�,��ر ا� �G�ر 
��S O�P�ن ا�R�ء ا�Lي  Nء ��آ�> e�SIء ا�Rو ا�

 �G�Jأ��انا� �
 .[� i’  m�FSا�\�
 ا� ,��� ��R�ء اk��S e�SI آ? ��ن 
)`_X� O ا� �G�ر S-او
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' ا� ����  t2ا����6c� ?�_ ���c ا��`? 5)'  -2'�M N2
: ا� �Hm �7ل هKL ا� 'ة وهA ا� >\�X� �5 �9ف
d=v.t2=0,1m=10cm=2λ  

 :اذن ��6c ا��`? 5)' هKL ا����c ه�

  
 �cو 5)' ا���t3=0,025s A�9ف ا� ��7 ه X� �5�\< ا� �� M :d=2,5λ,�ن ا� ��

 :��6c ا��`? 5)' هKL ا����c ه� إذن
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 3 -1 –  � Sا�\�ر A� O�   L=40λ=200cm=2m :9�ل ا��`? ه� ذنإ ،أن �9�A ا��`? 
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4-  
�A ا� )�E  أآ`� ePS ا�AJء ��M Xدد ا�6-از Seυ � أن �Mدد ا����Rت  - 4-1 ?`��� ���\S آ��: f:H(� إذن
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